21

0.5




12




17

-1
-1 17
t/

3100 51,621 2,491 54,112
E 54,073 54,073
110 39,505 39,505
2200 31,911 3,710 35,621
2000 26,665 244 26,910
2800 18,919 6,275 25,194
2700 19,784 168 19,952
1900 13,806 2,952 16,758
1800 14,204 1,135 15,339
7700 686 14,358 15,044
2900 11,957 2,150 14,106
2300 10,248 950 11,197
3000 9,013 804 9,816
2500 8,900 545 9,445
3400 7,994 212 8,206
1400 5,523 604 6,127
2600 5,747 191 5,938
500 5,401 5,401
1600 2,868 1,904 4,772
3830 4,163 0 4,163
1700 1,197 2,108 3,305
300 2,929 2,929
5930 1,543 1,322 2,865
3500 251 1,779 2,030
8640 1,835 1,835
3200 1,498 175 1,672
400 1,545 1,545
7210 327 1,145 1,472
2100 1,229 0 1,229
4400 679 679
2400 354 161 515
5132 438 438
1200 354 38 392
210 309 309
7660 309 309
700 247 247
8722 220 1 222
1500 152 5 157
8800 149 149




-1 17
t/

1300 113 27 140
3900 138 1 138
7810 136 136
9140 49 67 116
9210 73 21 93
8716 68 3 71
3700 64 64
3600 37 13 50
3300 32 0 32
8620 23 2 26
5220 23 1 24
8630 13 11 24
7430 11 1 13
5142 0 0

258,677 146,228 404,905




-1
17
' 100kg
89
58 42
3,038
9,353
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100 1,000 10,000

10

kg
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() 21
21 19
-2 21
t/ )
21
21 21
= + —
(a) (b) (C) (a) (b) = a /(C)
1,024 4,258 5,282 19%
107 508 615 17%
0.3 0.4 0.7 40%
1,132 4,766 5,898 19%
17
21
21
-3 21
21
21 21 21 21
a (b =a/ a+hbh
1200 2 13 0 40 0%
1400 1 2 0 6 0%
1600 4 5 3 259 1%
1700 8 5 28 15 66%
1900 117 98 459 1,404 25%
2000 45 75 9 302 3%
2200 5 13 4 115 3%
2300 5 5 7 17 27%
2400 7 3 3 53 5%
2500 20 12 15 53 22%
2600 2 7 0 26 0%
2700 15 15 2 20 7%
2800 410 98 445 591 43%
2900 10 23 5 146 3%
3000 19 72 19 221 8%
3100 6 25 2 922 0%
3200 15 23 3 49 7%
3400 16 9 18 20 46%
3900 0 4 0 6 0%
4400 2 4 3 11 20%
5132 2 5 2 5 29%
5930 493 745 20 47 30%
7200 204 20 61 93 40%
7430 0 3 0 16 0%
7700 33 57 13 127 10%
7810 3 11 6 61 8%
8800 1 37 0.1 23 0%
9100 0 47 0 56 0%
9210 3 37 1 57 1%
19 98 4 6 40%
1,467 1,571 1,132 4,766 19%
17
t
21 21
21




-4 21
v 21
21 21 21 21(b 4/ a+h
2 19 167 4 83 4%
4 120 228 140 763 16%
8 213 210 0.4 8 5%
9 6 9 0.02 6 0%
11 674 1,027 109 484 18%
15 2 66 0.2 18 1%
16 69 183 78 591 12%
17 44 110 19 200 9%
19 2 29 0.1 6 2%
26 45 120 53 559 9%
28 1 4 3 11 20%
31 4 11 9 1 89%
35 206 28 74 158 32%
38 116 57 218 337 39%
39 715 1,044 330 872 27%
48 16 46 1 9 5%
49 9 87 1 68 2%
50 495 772 3 8 28%
51 7 45 0.03 10 0%
53 69 230 50 325 13%
54 24 81 6 55 10%
55 24 100 19 180 9%
57 306 220 12 10 54%
748 545 1 3 35%
3,934 5,419 1,132 4,766 19%
17
t
21 21
21
-5 21
kg/ kg/ (kg/

1 100t 224 91,613,200 17,001 76

2 50 100t 161 18,704,800 48,849 303

310 50t 134 6,641,150 199,579 1,489

4.1 10t 231 748,940 389,009 1,684

750 | 117,708,090 654,438 873

17
"100t" - "50t" "10t" - "5t" "1t"-"0.5t"




100kg t
-6 t
t/ )
100kg
100kg 1t 1t
1t (c)=(a)+(b)

(a) _ (b) = a /(c)
295 | 4,987 5,282 6%
131 | 484 615 21% |
0.3 0.4 0.7 41%
426 5,472 5,898 7%

17
23
-7 112
19 100 20 10
21 21
-7 23
20 20
23 1,005,774 110,524 1,116,905
16




40,823

3,826

8,500

5,056

2,829

1,000

500

798

6,000

23,000

17

-10 -

2006



29

18

10

21

18

500kg

-11 -




11

13

86

- 12 -




12

29

138

- 13-




1)

(16)

(1)

(16)

1)

(5)

(1)

(5)

-14 -




11

-15 -




-1
10 100kg/
500kg/
57
39 100 7/
21
A 100kg/
B 1,000kg/
C 10,000kg/
A 30kg/
B 100kg/
C 100kg/
17 10

39
41

43
kg -

- 16 -




17

16

. 283,784 564,352
16
S 41,822
~ 3,464
- 6,111
_ 8,435
20 16
- 13,697 10
~ 4,446 6
28,000t/
17,000t/
1,900t/
1,3,5- .

- 17 -




110

80 16 17
~ 5,570
2,660
440,750
. 281,850
1,438,790
16
- 6,603
20 - 680
125
17
D-D - 11,363t
~ 8,099t
- 2,973
L 2,274t
2,031t

- 3,437,447ha
H17 - 39,348t/
- 11.4kg/ha/

1t - 87.4ha
t ha
10ha 11,380 0.5
ha
30ha 11,490 20
10

ha

-18 -




300

80

16

980 1,206

16 17
- 122,680
- 2,857
- 3,745
- 595

20 274

28

17

- 2,718t
- 211t
- 05

129,877

529
620
8,053

-19 -




8640

16

5,177

20,174

20

6,051

60

25t

—

2.8t

-20 -




400

16
952

1,500

300

20

61

17

- 1,542t

—

1.8t

0.8

-21 -




210

2005

. 283
L 137
~ 19,960
. 13,296
. 74,442
. 34,029
- 11,309

10ha - 127,247
10 100ha - 67,733
100 1,000ha - 4,752
1,000ha - 492

ha

22

- 26t
- 6.6t

-22 -




7660

17

16
1,289 2,026
18
9 18
150m
20
21
- 78t
- 61
= 32t

42
0.7

17

43
kg —
10kg - 20
10 100kg - 18
100kg -
301
900kg

56

90

309t

100m

-23 -




8800

16
20 9,077
7,999
20 97,051
66,557
20 90
20 29 40
21
- 147t
- 80t
- 16t
13 15
t - 1.7
100kg t - 64 14
10 100kg - 154 33
10kg - 136 29
- 111 23
17
- 20 26
> t 20
- 4.7t 10
- 14
- t
- t 97
> t 47
13 - t 208
300

-24 -




/ kg/
242 2,200 0
40 770 670
1,900 0
1,664 1,000 0
665 720 0
1,000 0
2,042 1,000 0
2,200 0
2,255 540 0
2,962 1,300 800
667 750 230
1,200 0
1,744 520 160
60 4,600 460
17
0.5
-3
©ilo o
RS b
~—+
ﬁ
11 2 1 1 2
42 82| 1] 94 52] 28] 2
63 70 2] 1 2] 1 71 4 26| 44
66 43| 1] 42 6 28] 13| 2
95 11 12 6] 5
108 2 2 1 1] 1
160|2~ M- 1 1 1
172 \N,N- 1 1 1 1] 1
175 5 7 3 2
179 3 3 3
227 2 2 2
243 1 1 1
254 29 1 1 1 28 18 11
299 4 1 1 1 3 1
310 52/ 1 10 1 1 34 36 33 18 1
308| 3153 3, 3| 2| 3122 42 42] 3|175 126 7

13

15

- 25 -




